18/05/12
61 348 Service Operations Management
Final Exam Answer Sheet
1. James is a teacher of “Service Operation Management” course where 24 students are enrolled. He observed that students’ homework grades are low. He decided to talk to his class about this issue. From students’ responses, James grouped possible problems, (along with frequencies) in the following table: 

	Problem Area
	Frequency

	
	

	Failure to read textbook
	24

	The language of textbook is difficult
	15

	Lack of Interest in the subject
	5

	Attendance problems
	18

	Concentration problems
	9

	Other problems
	7


a) Prepare a Pareto Chart for the above data. (2 Points)
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b) As “Failure to read textbook” problem had the highest frequency amongst the other problems, James decided to tackle this first. He started explaining to his students the importance of reading, and how reading results in better understanding and learning that would affect students’ homework performances. After 2 weeks passed, he wanted to see if there are any improvements in students’ grades. To see this he decided to use run chart. He prepared the following table depicting students’ homework grades (before talking with them) and their grades (after trying to convince them of the importance of reading). The following table reveals the results:
	Observation
	Homework Grade (Before)
	Homework Grade (After)

	
	
	

	1
	52
	60

	2
	56
	62

	3
	60
	70

	4
	72
	75

	5
	52
	70

	6
	60
	80

	7
	60
	65

	8
	60
	60

	9
	56
	68

	10
	64
	72

	11
	72
	78

	12
	64
	70

	13
	60
	73

	14
	60
	79

	15
	60
	61

	16
	52
	59

	17
	64
	70

	18
	68
	72

	19
	68
	74

	20
	60
	66

	21
	88
	95

	22
	52
	60

	23
	88
	98

	24
	60
	65


Prepare a run chart to compare homework performance before and after the instructor convinces students about the importance of reading the textbook. (2 Points)
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c) Analyze the finding in part b). Is there any improvement in students’ homework grade after being sensibilized of the importance of reading text books? If there is an improvement, what is the next problem that James shall try and solve? (1 Point)
As far as the run chart prepared in part b) is concerned, we can say that there is an improvement in students’ homework grade after being sensibilized of the importance of reading text books. That’s why, James shall try and tackle “Attendance problems” next.

2. Contrast “Boundary” and “Diagnostic” organizational control systems used to encourage creative employee empowerment.  Provide one example for each of those control systems. (4 Points)

While “Boundary” system defines limits to employees initiatives without creating an environment of negative thinking that can be generated by using standard operating procedures, “Diagnostic” system define measurable goals to achieve. An example to “Boundary” system might be “Do not commit the organization to a financial liability in excess of 750 TL”. An example to “Diagnostic” system might be “85 % on-time performance.”
3. During the past season, Fevziye Holiday Village did not achieve very high occupancy rates despite a reservation system that was designed to keep the Holiday Village fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Holiday Village was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.10
	0
	0.00

	1
	0.15
	1
	0.10

	2
	0.17
	2
	0.25

	3
	0.09
	3
	0.42

	4
	0.08
	4
	0.51

	5
	0.16
	5
	0.59

	6
	0.10
	6
	0.75

	7
	0.04
	7
	0.85

	8
	0.05
	8
	0.89

	9
	0.04
	9
	0.94

	10
	0.02
	10
	0.98


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 65. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected Number of No Show Rooms = (0 * 0.10) + (1 * 0.15) + (2 * 0.17) + (3 * 0.09) + (4 * 0.08) + (5 * 0.16) + (6 * 0.10) + (7 * 0.04) + (8 * 0.05) + (9 * 0.04) + (10 * 0.02) = 0 + 0.15 + 0.34 + 0.27 + 0.32 + 0.80 + 0.60 + 0.28 + 0.40 + 0.36 + 0.20 = 3.72 Rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected Opportunity Loss = 3.72 * 65 = $ 241.80.
In order to avoid some of this loss, Fevziye Holiday Village management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Fevziye Holiday Village has made arrangements with a nearby Club (Güzelsoy Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 150 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.10
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00
	1,350.00
	1,500.00

	1
	0.15
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00
	1,350.00

	2
	0.17
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00
	1,200.00

	3
	0.09
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00
	1,050.00

	4
	0.08
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00
	900.00

	5
	0.16
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00
	750.00

	6
	0.10
	390.00
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00
	600.00

	7
	0.04
	455.00
	390.00
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00
	450.00

	8
	0.05
	520.00
	455.00
	390.00
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00
	300.00

	9
	0.04
	585.00
	520.00
	455.00
	390.00
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00
	150.00

	10
	0.02
	650.00
	585.00
	520.00
	455.00
	390.00
	325.00
	260.00
	195.00
	130.00
	65.00
	0.00

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	$241.80
	$198.30
	$187.05
	$212.35
	$257.00
	$318.85
	$415.10
	$532.85
	$659.20
	$796.30
	$942.00

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 2 rooms shall be overbooked, since, this very scenario yields the least expected loss.
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
4. “Companies develop complementary services to maximize revenues”. Do you agree with this statement? Why? Why not? What should be the demand for complementary services in comparison with the demand of the primary service? (3 Points)
I agree with this statement. For, in periods where demand for the primary service exceeds supply, waiting customers might be diverted to complementary services. Moreover, in periods where supply for the primary service exceeds demand, workers will be utilized for the complementary service. This fact serves as to maximize revenue of the company in general. Moreover, it should be stated, however, that the demand for primary service and complementary service should be contra-cyclical so that above mentioned benefits would be observed.
5. What are some of the management issues / challenges that need to be considered when deciding to apply “Focused Network” expansion strategy? (2 Points)

Some of the management issues / challenges that need to be considered when deciding to apply “Focused Network” expansion strategy are as follows:

· Ensuring consistency of service across all locations

· Usage of technology as to standardize products / services

· Capture of premium locations in different geographic areas

· Legal and innovative ways to defeat imitation of service by other competitors

· Planning for the new sites (preparing training and operation manuals, branding the concept, and launching a national marketing effort)

6. What are some of the management issues that needs to be addressed while analyzing whether or not to adopt “Beating the Clock” global service strategy? (3 Points)

Some of the management issues that need to be addressed while analyzing whether or not to adopt “Beating the Clock” global service strategy are as follows:

· Analyze, whether, such a movement, will result in economies of operation
· Analyze, whether, such a movement, will provide better access for foreign and domestic customers

· Analyze, whether, such a movement, support time-based competition in operations

· Analyze, whether, such a movement, will add to the creativity available in the process without slowing it down

Good Luck
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